Run 5589 mpswise, accO: All
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Run 5589 mpswise, acc0: Beam ON, Laser ON
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Run 5589 mpswise, accQ: Beam OFF
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Run 5589 mpswise, acc0: Beam ON, Laser OFF
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Run 5589 mpswise, Acc0 vs Time: All
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Run 5589 mpswise, AccO vs Time: Beam ON, Laser ON

16

ERTI

14

12

10

-

?IlllllI|III|III|III|_I__|_|_|_|_l_L|_III|

I AN T T T T AN T T T T T A AN O O O OO O B 3
20 40 60 80 100 120 140 180 180 200 220
mpsCoda

Accl/MNACCD

Accl/NACeD

16

14

12

10

16

14

12

10

Run 5589 mpswise, AccO vs Time: Beam OFF
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Run 5589 mpswise, AccO vs Time: Beam ON, Laser OFF
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